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Jim Stiles The Univ. of Kansas Dept. of EECS 

Special Problem II.A - 37 
 
Consider this terminated, lossless, transmission line : 
 
 
 
 
 
 
 
 
 
 
 
The voltage at z =0 is known to be ( )0 3.0V z j V= = : 
 
Determine: 
 

1. the complex functions ( ) ( ) ( ), ,V z V z z+ − Γ . 
 
2. the complex functions  ( ) ( ) ( ), ,V z I z Z z . 
 
3. the complex values ( ) ( ) ( )1 , 1 , 1V z V z z+ −= − = − Γ = − . 
 
4. the complex values ( ) ( ) ( )1 , 1 , 1V z I z Z z= − = − = − . 

 

I(z) 

0 50 rad/m2Z πβ= Ω =
+ 
V (z) 
- 

1 m

 
150 Ω 
 

1z = − 0z =
z 


